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S = ij1 10°/U), mm?

kA
Qm 20C 138x 107°Q m

17.24x107°Q m 28.264 x1079Q m

l——

Uy

m

kV

Lpz,

n



1219 -

(LPZOIX)

33-7
—
b_
—
d_
—
f— ERP
—
h_
i— PE I PE Il
k_
l_
5m
m—
1—
2_
3_
4_
5—
*— LPZ1
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95%
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34-2 34-2 1 6
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34-4
n=0 M=0
M + M - M 3
1/4
V3
2.
34 - 5a
(]|:Uv403 D
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34-4
/V 6000 <500 <42
/°C 20 45 75 20 45 75 20 45 75
/MQ 25 15 6 3 1.5 0.5 |0.15] 0.1 | 0.05
/MQ - - - 3 1.5 0.5 [ 0.15| 0.1 | 0.05
/MQ - - - 3 1.5 0.5 | 1.15| 0.1 | 0.05
3. 1.5
2.5 1.1~
1.25
4.
500kw
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10kV
2m 35kV 2m
9

1.1m
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315kVA

0.5m
2m

34-7

600kg

Im

1.5m

2.3m

2.

Sm

+5%
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24h

0.8m

45°C
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min

34-7
/%
18C 24°C 30°C 36°C 2% 48C 54C

5 350 325 290 240 180 90 10

10 230 205 170 130 85 10 -

15 170 145 110 80 35 - -

20 125 100 75 45 - - -

25 95 75 50 25 - - -

30 70 50 30 - - - -

35 55 35 15 - - - -

40 40 25 - - - _ _

45 25 10 - - - - -

50 15 - - - - - -

A A
105°C 105°C 65C
70°C 95°C 85°C
1
2
3
4
2.
34-18
+ +
T1
+7 4
T2
34-18

Ual = Ua2
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2
3
4
10kV
1.
34-20
—'/—_———‘
(@)
23m

25mm’

0.5%
Uul = Uﬂz
10%
3:1
N~
(b)
34-19
a b
34-20
10 kV 04 kV
34-20
15m
16mm’ 25mm’ 16mum’
10
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34-22
34-21

100V

LA - 10
10kV LQJ - 10 10kV
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1
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KyUy = Upy
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3 +3%
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34-9

34-8
34-8
kv kv n

10 0.70 220 3.00

20~ 35 1.00 330 4.00
60 ~ 110 1.50 550 500

4m Sm

1kV
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34-9 v
U<50 U<50 U<50
50 < U< 600 50 < U< 1000 50 < U< 1000
34-10
34-10 A%
U<120 U<120 U<120
120 < U< 900 120< U< 1500 120 < U< 1500
34-11
34-11
U < 660V U< 660V
1P2X IP1X U> 660V | IPOX U > 660V
50V<U 1P4X P2X
<1kV U>
660V 1P4X
IP1X
IP5X IP5X
U> 1kV
IP1X
IP1X
1P2X
2.
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2000m 34-12
34-12
mm
234
\Y
1 I | N
A% 330 500 800 1500
0.2 0.2 0.2 0.5
U<50
0.8 0.8 0.8 0.8
1.6 1.6 1.6 1.6
A% 500 800 1500 2500
0.2 0.2 0.3 1.5
50< U< 100
0.8 0.8 0.8 1.5
1.6 1.6 1.6 1.6
v 800 1500 2500 4000
0.2 0.5 1.5 3.0
100< U< 150
0.8 0.8 1.5 3.0
1.6 1.6 1.6 3.0
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U mm
234
A\
1 Il Il I\
A 1500 | 2500 | 4000 | 6000
0.5 1.5 3.0 5.5
150 < U<300
0.8 1.5 3.0 5.5
mm
1.6 1.6 3.0 5.5
v 2500 | 4000 | 6000 | 8000
1.5 3.0 5.5 8
300 < U<600
1.5 3.0 5.5 8
mm
1.6 3.0 5.5 8
A 4000 | 6000 | 8000 | 12000
600 < U 3.0 5.5 8 14
<1000 3.0 5.5 8 14
mm
3.0 5.5 8 14
34-13
34-13
mm
mm
1 2 |1 2 4
v
@
O NGRN©; I,
I H I H ”—Ia ”—Ih I H ”—la ”—lb
I,
10 0.025(0.04(0.08/ 0.4 0.4 (0.4 1 | 1 | 1 1.6 1.6|1.6
12.5 0.025(0.04(0.09(0.42[0.42[0.42|1.05|1.05|1.05 1.6 1.6]1.6
16 0.025[0.04| 0.1 [0.45[0.450.45 1.1 | 1.1 1.1 1.6/ 1.6]1.6
20 0.025(0.04[0.11/0.48/0.48(0.48 1.2 1.2 | 1.2 1.6 1.6|1.6
25 0.025{0.04(0.125 0.5 | 0.5 | 0.5 | 1.25]1.25|1.25 1.7 1.7 1.7
32 0.025(0.04[0.14| 0.9 {0.53(0.53 1.3 | 1.3 | 1.3 1.8 1.8 1.8
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mm
mm
1 2 1 2 4
v
@
ONEONNO) IIr,
1 I 1 n|m,|m| I | m, | I,
”—lb
40 0.025{0.04/0.16/0.56/ 0.8 | 1.1 | 1.4 1.6 | 1.8 1.9/24| 3
50 0.025{0.04/0.18/ 0.6 ([0.85| 1.2 | 1.5|1.7| 1.9 2 12.5]13.2
63 0.04 10.063] 0.2 {0.63] 0.9 [1.25| 1.6 1.8 2 2.112.6| 3.4
80 0.063] 0.1 10.2210.67({0.95| I3 | 1.71.9] 2.1 2.212.8|3.6
100 0.1 [0.16/0.25/0.71| 1 1.4 ] 18 2 2.2 2.413.0]3.8
125 127 0.16 |0.25/0.28/0.75{1.05| 1.5 1.9 (2.1]|2.4 2.513.2 4
160 0.2510.4(0.32/0.8(1.1|1.6, 2 |2.2]|2.5 3.2 4 5
200 208 0.4 10.63{0.42| 1 1.4 2 2.5(2.813.2 4 5 6.3
250 0.56 1 10.56{1.25/1.82.5|3.2|3.6 4 5 6.3 8
320 0.75]11.60.75|1.62.2| 3.2 4 4.5 5 6.3 8 10
400 415 1 2 1 2 28] 4 5 |5.6]6.3 8 10 [12.5
500 1.3 (25|1.3|25|36| 5 |63|7.1|8.0 10 [12.5]| 16
630 690 1.8 [3.2|11.8]13.2]4.5]6.3 8 9 10 12.5| 16 20
800 830 2.4 4 2.4 4 5.6 8 10 11 |12.5 16 20 25
1000 3.2 5 3.2 5 7.1 10 [12.5| 14 16 ® 20 25 32
129 421631 9 [12.5] 16 18 | 20 25 32 | 40 ©)
1600 5.6 8 11 16 | 20 | 22 | 25 32 | 40 | 50
2000 7.5| 10 14 20 25 28 32 40 50 63
2500 10 |12.5| 18 25 32 36 40 50 63 80
3200 12.5] 16 22 32 40 45 50 63 80 | 100
@ I I, I,
(@) I I I,
® I, 630V 3
@ 32V

R10
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34 -27
H_
34-14
34 -15
34-14 mm
1 2 3 4 5 6 7
A B C D E
34
1
800
H
U, kV 1
1 800mm 800 1 800
800
1
100
H=
C=S+300 D=S+ E=S+
S+ 2300 A=S B=S+ 100 C —600 1000 1500
H,;, = 2600 "
1~10 2600 200 300 500 1200 1700
15~20 2600 300 400 600 1300 1800
35 2600 400 500 700 1400 1900
63 2950 650 750 950 1650 2150
110 3300 1000 1100 1300 2000 2500
220 4100 1800 1900 2100 2800 3300
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80 /min
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10'] W S

Q0=0.24% R t

104 ~ 105kV
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H2H2504 + 2H2 T + 02 ¢

5h

0.7%

2mg/m’

UPS

PbSO,

PbO? + 2H,580, + Pb=="PbS0, + 2H,0 + PbSO,

PhO, Pb
2H2 SO4 + 2H20
H, 0,

2.5h 1.

V=0.07x F n m’/h — n—

10C
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AW N =
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48 v
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CPU
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VALID DETECTORS ZONE AA
XXXX YYYY 7777
XXXX YYYY 7777
XXXX YYYY 7777
XXXX YYYY 7777
XXXX YYYY 7777
XXXX YYYY 7777
XXXX YYYY
7777
AA
A v PGUP PGDN ZDNEUP
ZONEDN
3 7
DETN DISPN VALID GRADE TYPE
XXXX YYYY 7 G T
XXXX YYYY 7 G T
XXXX YYYY 7 G T
XXXX YYYY 7 G T
XXXX YYYY 7 G T
XXXX YYYY 7 G T
XXXX YYYY v/ G T
XXXX YYYY
7 zZ 1 7“0
. . | " ) c vy
2 e
T T
35-1 T
T
0
1
-
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v PGUP
PGDN ZONEUP 1 ZONEDN 1
DETN DISPN VALID GRADE TYPE
4019 0119 1 2 0
4020 0120 1 1 2
4021 0121 1 2 3
4022 0201 1 2 0
4023 0202 0 2 0
4024 0203 1 2 2
4025 0204 1 2 3
4019 0119
4020 0120
4021 0121
4022 0201
“ ESC
4 “ 3

QU LIAN DONC BLAOQUHAO YY INSERT ON XXXX XXXX
XXXX  XXXX  XXXX  XXXX  XXXX  XXXX XXXX  XXXX

“ INSERTOFF”
“ DEL" v
PGUP PGDN
ZONEUP 1 ZONEDN 1 “ DEL

“ ESC”
® g

DET TABLE INSERT ON SS

* XX YY&ZZ AAAA BBBB

XX YY 77 SS AAAA BBBB
‘o ‘o SS XX YY

" Eser
© ‘5"

1999 08 21 10 21 00
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1000

CO
1~20x10 —6
Cco 20x10 —6

35-2
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1~2W/ke

1T

50Hz

35-2
20:1
1.
2.
3.
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800°C
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500 ~ 600°C
35-3 200w
400W 150 ~ 250C
1000W 500 ~ 800°C
35-3
/W 40 75 100 150 200
/C 55~ 60 140 ~ 200 170 ~ 220 150 ~ 230 160 ~ 300
8000°C
W, = LLIZ
)



1284 -

0 1
1.
10 0
0
0
21 1
32 2
4
@
@) 10%
©) 10% 35-1
100
80
= i |
g 60
:'z 40 \\
3 5| HEEK \\
10 ——— e ] —— e — D
0
0.1 1 10 1000 1000 8 760
EHEME/ hat
35-1
@
®
2.

174



1285 -

v

O >~ o0 O

35-6

35-2



1286 -

75m

(a) (b)
35-2

1— 2—1 3—2 4— 2

(al i1

35-4



1287 -

# X R

R

X R E

45m

i
B
-3

35-5

5

35-6

GB4208—84

11

10

10

1.10

2.11



1288 -

35-7

11 10

7.5/15@3)m
35-7 10 11
10 7.5m 15m
3m 11 11 3m 3m
Im 11
3m 3m 11
10 15m 3m 11
21 22 23 H-1 H-2 H-3



1289 -

1.5
3mm 6
100cm® Smm 100cm® 8mm

2

P44 P54
3

25mm T1 ~T4 100°C T5 80°C T6
70°C 5°
4
1P44
0.25~1.6mm 0.1%
5
ia ib
0
1
38-4
P20 P54
35-4 Tl ~ T4
/mn’ 0.17 0.03 0.09 0.19 0.28 0.44
/A 1.0 1.65 3.3 5.0 6.5 8.3
50mm



1290 -

98Pa

t_K V+V,

iall AT5

P44
49Pa
K=5
w
o’
m'/s
d e
o q
“ X
dIl BT3 I
I A T5 ia
ep |l BT4
dll NH; dll
ell BT4 ell B 125C ell B 125C T4
450°C
35-5

35-6
125C Smm 75C

196Pa

125C

150°C

2/3



1291 -

35-5

T6

85

T5

100

T4

135

200

300

T1

450

/C

35-6

150

100

60

190

140

100

175

120

70

215

160

110

T11

T12

T13

40°C

35-17 35-12

35-17

35-17

35-8



1292 -

35-8
1
A A X O O
A A x O O
X O O
©) 35-9
35-9
1 2
O
YAN
O O O O O
VAN O
A A x O
O X O O
O O O O
A O
1
2
3
4 0 ia
@ 35-10




1293 -

35-10
1 2
O O
A O
O O
O O
O O
35-11
35-11
1
O O x O O O O
O O
O X O O O
35-12
335-12 10 11
10 11
1P65 1P54
O O
O O
O O O
O O O
O O O
O O
O O




1294 -

4 35-13
35-13
21 H-1 22 H-2 23 H-3
P44 P21
P54
P54 P54
P54 1P44 P22
P65
P44
1 21 P44 21
P44
2 23 P21 P44
4 GB4208—84
1.
1
10kV
1.5
2

5-14



1295 -

35-14

O@

OO—

2. 5mm?

500V



1296 -

1.25
1.25
1000V
g 1=
min = C t;
Smin mm2
lo——
C— 162 175 92
1— s
6 1 2
2
2
35-15
35-15
O O O @)
@ O O @)
@
@
®)
35-16 35-17
35-16
| 2. 2.
Smm? 5mm’ Smm?
1.
5 Smm? Smm™ 1.
4mm® 2. 5mm’ S5mm’
1 2
2 2



1297 -

35-17
Dg25mm
2.
2. Smm? 2. Smm? ) 5
Smm
Dg32mm
6
Dg25mm
1. 5mm? 1. 5mm? 1.
2. | 5mm? 5
4mm? Smm? Dg32mm
6
1 GB3901 - 82
2
3
4 2
100 11 1 2
35-18
35-18
10 11
O O
x O
x O
X O
35-19 35-20



1298 -

35-19
10 2. 5mm?
1.5mn? 2. 5mm’
11
1 11
2
3
35-20
10 2. 5mm? 6
1.5mm?
11 6
2. 5mm?
1 GB3901 - 82
2
3
3.
10kV
1.5
35-21
35-21
21 H-1 2 H-2 23 H-
1 O O O
2 O O O
3 O O O
4 @) O O
5 O O O
6 X x O
21 23 H-3



1299 -
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500V
1
1
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1.
35-22
2.
45°C 1~5C
3.
35-22 35-23
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/C
/C /% /%
1
T1 537 5.0 15.0 0.55
A
™ 415 36 7.1 63 2.11
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/C

/C /% /%
T1 625 7.1 18.5 1.78
Tl 515 3.0 15.5 1.04
T1 511 <-200| 6.7 11.3 3.76
14- T4 180 12.2 2.0 22.0 3.03
12- T 412 13.3 6.2 16.0 3.40
T1 466 2.1 9.5 1.56
3- -12- T2 385 28.0 2.3 34.4 3.28
T2 365 1.5 8.5 2.05
k] 245 -12.0 1.8 10.1 3.20
T3 285 < -40.0 1.4 7.8 2.49
T3 233 -21.7 1.2 7.5 2.79
T3 215 -4.0 1.1 6.7 3.46
T 210 12.0 0.8 6.5 3.94
k] 205 31 0.7 5.6 4.43
k] 205 46.0 0.7 5.4 4.90
T2 413 3.8 29.3 2.16
Tl 490 32.0 1.1 8.0 3.59
T1 455 11.0 5.5 36.0 1.10
T 422 1.1 3.5 19.0 1.59
T 405 15 2.1 13.5 2.07
T2 340 29 1.4 10.0 2.55
T3 300 32.7 1.2 10.5 3.04
T 240 3.0 27.0 1.59
T4 170 -45.0 1.7 48.0 2.55
T4 175 25.0 1.5 7.6 4.48
T1 505 -6.1 1.8 11.5 2.48
Tl 537 -19.0 2.5 13.0 2.00
T4 140 -37.8 4.0 57.0 1.52
k] 203 -6.7 1.4 12.5 2.48
T2 450 <-20 5.0 20.0 2.07
T2 400 -4.4 1.1 11.5 3.04
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/C
/C /% /% 1
T1 485 40.0 4.0 17.0 2.07
T2 315 49.0 2.0 10.2 3.52
T1 524 5.6 4.4 16.0 1.42
T1 481 0 2.8 28.0 1.83
T 430 5.0 20.7 1.07
T1 555 11.1 1.2 8.0 2.70
T2 395 -1.1 1.5 12.5 2.90
T2 390 0 2.3 14.3 2.30
T1 535 4.4 1.2 7.0 3.18
T1 465 30 1.0 7.6 3.66
T2 430 15 1.0 7.8 3.66
Tl 540 80 0.9 5.9 4.42
T1 630 15.0 28.0 0.59
T1 605 12.5 74.0 0.97
T1 538 -17.8 5.6 41.0 0.93
T3 260 4.3 45.0 1.19
T3 280 -42.8 1.4 7.6 3.40
B
T1 465 2.4 10.4 1.45
T 425 3.0 100.0 1.52
T2 425 2.7 34.0 0.97
13- T 415 1.1 12.5 1.87
T4 170 -45.0 1.7 48.0 2.55
T4 190 2.0 10.1 2.07
T3 - <-20 2.8 31.0 1.94
T1 - 5.3 32.0 -
Ic
V) 305 1.5 82.0 0.90
T1 560 4.0 75.0 0.07
T5 102 -30 1.0 60.0 2.64
TI 7.0 72.0 —
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35-23
Smm o3 ,
/C & “m
/C

T13 154 — — 100
T12 230 — — 100
T12 220 — — —
T12 220 — — —
T13 159 — — —
T13 168 — — —
T13 157 — — —
T11 320 590 37~50 | 10~15
T12 230 400 37~50 | 10~20
T12 242 430 153 ~240({100 ~ 150
T11 340 470 44~59 | 5~10
T11 305 360 48 ~ 64 | 30~ 50
T12 535 >690 | 36~45 | 10~20
T11 430 530 [212~284| 10~ 15
T11 325 555 — <200
T11 305 360 |92~123| 5~10
T11 505 29 ~39 | 40 ~ 50
T11 650 60 ~ 83 | 80 ~ 100
T11 235 — 30~ 50
T11 475 46~70 | 15~30
T11 405 31 ~41 60




1303 -

Smm Jem™3|  /pm
/C P :
TI1 410 | 26~35|30~50
Tl 475 | 27~37 | 40~60
TI1 450 | 42~55| 5~10
TI1 505 |35~55| 5~7
TI1 425 | 46~63 |50~ 100
T11 480 | 52~71| <200
Tl 465 | 42~58 | 10~15
Tl 505 | 63~86| 4~5
TI1 520 |36~49 | 10~20
TI1 505 — 5~7 —
T11 435 — —
Tl 475 — | 20~50
TI1 360 | 36~40 | 20~ 30
TI1 370 | 38~52|20~30
TI1 325 — | 50~80
Tl 400 | 26~36 | 30~50
Tl 620 — | 50~80
TI1 620 — |50~ 150
EP54 Til 620 — | 50~80
TI1 290 420 — | 15~30
T 270 410 — |50~ 100
Tl 430 — | 20~30
TI1 305 430 — |50~ 100
TI1 360 | 77~99 | 20~ 40
TI1 285 405 — 1100~ 150
T 285 470 — —
Tl 465 — 1400 ~ 600
T 290 485 — |50~ 100
TI1 325 460 | 44~59 | 30~40
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Smm - ,
/C gm pm
/C
T11 235 595 41~57 | 5~10
TI11 285 680 34 ~45 5~7
T11 > 430 > 600 - 100 ~ 150
T11 340 595 39~52 1~2
T11 360 615 40 ~ 54 1~2
T11 > 750 — 15~25
TI11 535 > 690 — 10~20
35-24
/C /C

60 260

130 350

150 515

200 470

700 200

400 100

140 240

250 280

6 35-27
3 35-28
4.
35-22
35-23
0C 2.55% ~11.8% 50°C
2.5% ~12.5% 100°C 2.25% ~12.53%
0.098MPa 0.98MPa 4.9MPa  12.25MPaMPa 5.6% ~14.3% 5.9%

~17.2% 5.4% ~29.4% 5.1% ~45.7%

3.1% ~32% 3.0% ~80% 2.2% ~9.5%
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2.3% ~55%
1.4% ~7.6% 10% 1.4% ~5.6% 20%
1.8% ~2.4% 28%
0.4~0.5mm
100V 1A
2A 5.9% ~13.6% 3A
5.85% ~ 14.8%
MICR
35-27
35-26
35-26
35-25
/% /m]
HC=CH 7.73 0.02
CH, —CH, 6.52 0.096
CHyCH—CH, 4.44 0.282
CH; ;CCH,C CHy —CH, 1.71 0.96
CH, 9.50 0.33
CH;CH,CH; 4.02 0.31
CH; CH, ;CH, 2.55 0.49
CHyCH 7.02 6.00
C,HsNH, 5.28 2.40
C,HsOC, Hs 3.37 0.49
CH;CHO 7.72 0.376
CH, —CHCHO 5.64 0.13
CH,OH 12.24 0.215
CH;COCH; 4.97 1.15
CH;C0,C,Hs 4.02 1.42
CH, —CHCH,COOH 4.4 0.70
CeHe 2.71 0.55




1306 -

/% /m]
CeHsCH; 2.27 2.50
CS, 6.52 0.015
NH; 21.8 680
H, 29.6 0.02
H,S 12.2 0.077
35-26
1.6 10 - 30
7 20 - 15
0.24 20 40 10
0.008 10 - 11
0.0004 5 4~6 20~25
8 80 - 40
2.4 80 - 50
1.6 15 40 50
40 10 - 30
160 25 - 20
0.98MPa 0.78MPa 0.59MPa
0.39MPa 3mJ 6m] 12mJ  32m]
7.
MESG
25mm
35-27

35-27
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35-27
C
T1 T2 T3 T4 T5 T6
300<T 200< T 135<T 100<T 85<T
T > 450
<450 <300 <200 <135 <100
1 1.14 1.0
A |0.9~1.14|/0.8~1.0
B 0.5~0.9 |[0.45~0.8 — — —
Ic | <0.5 <0.45 — _
IMA B 35-28
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35-28
C
T11 T12 T13
T> 270 200 < T< 270 140 < T< 200
MmA
B
— TNT
10%

266.64Pa 133.32Pa
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1 10
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10kV
1.
380V

110V
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60kg
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600kg
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37-1
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M
SQ1 R-M L-M
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®
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